4 3 2 1

Solar bracket assembly 1

M8X45 Bolt M8X25 Bolt

'TPF

CP-EC-35

CORIGY
RHERK (B 17) FraEIR AR A R A A

xiamen corigy new energy technology CO.,LTD.
TEL: 0592-6883200 E-mail: sales@corigy.com

4 3 2 1




4 3

Install columns and beams

Column

;Ground
Beam
M12X45 Bolt
Flat washer
Flat washer

Spring washer \
= \

CORIGY
RHERK (B 17) FraEIR AR A R A A

xiamen corigy new energy technology CO.,LTD.
TEL: 0592-6883200 E-mail: sales@corigy.com

1




4 3 2 1

Install the rail on the beam 3

M12X35 Bolt_ (A?@ A
Flat washer . e \
Rail \.’(‘;[.' S & / & \\“\..\
e @ Nut < |<ih Nie
> / Spring washer \‘\ |II’ -
- & p— - Flat washer NN ,il!

M12X35 Bolt

Flat washer

rai BHERK (B 1) i BEIRAHA R A

xiamen corigy new energy technology CO.,LTD.
TEL: 0592-6883200 E-mail: sales@corigy.com

M12X35 Bolt

Flat washer .
Back view

4 3 2 1




4 3 2 1

Install the solar panel on the rail 4

,{l CORIGY
f#@ﬁﬁk (B 17) #retdr BB H R A H

xiamen corigy new energy technology CO.,LTD.
TEL: 0592-6883200 E-mail: sales@corigy.com

1




